usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

10000 |
EE C 12000 — evtTre e 700 - Entries 30346
;_5-:, e - : Mean -3.784
x - = Entries 121582 600—
S 350 * 10000 — i Std Dev 1117
Tk f f R 5000 i
: . - Mean 3.985 -
<]t - 200~ Underflow 515
£ M : 8000 |- -
i : B otd Dev  0.02407 1 B Overflow 517
250 i - 0 400
i 3 Al B i
. i 6000 -
2 i : Bl
¥ d i 3001
L ;S - -
15 & 4 4000 -5000 F% [
| i 200
¥ § I :
2000|~ -
05 # * : 100~
W ;i I 10000 -
nlllllllllll e H'IUS D_II|IIII|IIII||| IIII|IIII|IIII |I|II|I IIII|IIII|IIII|IIII|IIII|IIII|IIII|III _IIII|IIII|IIII|IIII|IIII|IIII
0 50 100 150 200 250 30C 3.75 38 385 39 395 4 405 4.1 4.15 0 5000 10000 15000 20000 25000 30000 35000 $00 2000 -1000 O 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run3324 000 maindet usl.png



dsl*CurMon:Entry$

o
n

dsl*CurMon

LENEaE AE
g 3 &

b
w

N
3

]

_ i

i ]

]

. 1

! 1 Al
1

B

3 !

1

2

1.5

= L T ol T Tl Tl T
. = > 2 o

1

0.5

[] i *
|
|||||||||||

0° 50 100 180 200 280 300
run3324 000 maindet dsl.png

Entry$

10000

8000

6000

4000

2000

dsl*CurMon {ErrorFlag==0}

III||J_

evilree

Entries 121582

Mean 4.054

Std Dev  0.02394

39 395 4 405 41 415 42
dsl*CurMon

N B T
5000 p¥ gﬁgi ix . §MM§M§EKS % ggxﬁ % %o
§ 2?22%%2% %Eﬁiziz¥¥%¥§?¥?¥?%¥ §?¥%
R
;é}{ y # i # %
b T T T T I T Y
05000 10000 15000 20000 25000 30000 35000

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1
3
pattern_number

700

600

500

400

300

200

100

asym_dsl

oo

-2000

-1000 0

Entries 30346
-5.813
Std Dev

Underflow

Overflow




usr*CurMon:Entry$
S 45
= B
!5 |
9 4 I-I ul it
= L W ¥ g
35 [
- :
S ]
o ;‘ *
? ‘ il
25 | 1
t :
. i
1.50 | |
05 T
||||||||||| II

0 0 100 0 200 00

run3324 000 maindet usr.png

Entry$

6000

5000

4000

3000

2000

1000

usr*GurMon {ErrorFlag==

}

evilree

Entries 121582

Mean 4.09

Std Dev 0.01724

I|I
412 414 4.16

usr*CurMon

4000

2000

-2000

-4000

-6000

asym_usr/ppm:pattern_number {ErrorFlag==

attern number

1000

800

600

400

200

asym_usr

Entries

Mean

Std Dev

Underflow

Overflow

30346

4.2

722.6

17

14

—d‘nﬂ IJID -

-2000

-1000 0

2000

3000
ppm




dsr*CurMon:Entry$ dsr*CurMon {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr
c - 8000 Entries 30346
= - thTree - |
S ] - [ % « 1000 Mean 3.447
o i 7000r Entries 121582 40007 KX % T xS
v 4 d —
©3sm i 1 i :§ %f }{gg ig%ﬁ %i - § %;55% g; Std Dev  741.9
t K i 6000~ Mean 4.012 2000 s o ] M § 500
3t K ; - Underflow 33
ol 1 N
L] 000{—
2.5 - L i ° a Std Dev  0.01635 0 Overflow 37
T .35 i 600
LW b 4000~
n i : 2000
Y b i ! — —
. ] B & 400
1.5 i - % % % :x:x:g 5}{}: s
W - -t SV S x -
! - > 200
05 # + 1000~ _6000
: ._ - i
] | : _ _
nlllllllllll ':_':" DIIlIIIlIIIlIII' III|III|III|III|III II| IIII|IIII|I III|IIII|IIII|IIII|III IIII|IIII|IIII|IIII
0 50 100 150 200 250 300 3.88 3.9 392394396398 4 4.024.044.064.08 0 000 20000 25000 30000 35000 $000 2000 —1000 2000 3000
Entry$ dsr*CurMon pattern_number ppm

run3324 000 maindet dsr.png



yield usl:pattern number {ErrorFlag==0} yiE|d_US| {Eﬂ'DI'F'B.g==0} asym_usl/ppm:pattern_number {ErrorFlag==0} asym_usl/ppm {ErrorFlag::O}

0.084 8000~ htem P 20000 y - PairTree
_ i _ ﬁ " 6000 —
0.083— - - X X 3 p u
i : - - XX % X X XK KX % X 5000
B 6000 Mean 008091 1000058 S wxxix & RGEET T LEN - Mean -1.544
0 DBE__ B - }{}{g}{ L }ig Ho MM %}i U B
om2y : | ] i e :
- & 5000 Std Dev 0.0003745 5000 g %ﬁg%ﬁ%* 4000 StdDev 1990
o 4000 oBEs HEFHEEHE HEeHBEHEEHREHERHEEHEEHES annn:
0-08 * nnnz— 5000 f, g}{ §§}{§}{}{K
5 3000f j| By 4 il :
. B [, o MK § MK S S 2000
. i [ et et S HooM X B
0.079 - 10000 =8« x x % % %% %k
- 2000~ e XX X XX y i -
i ; tso005x < C i
i : = ] 1000 —
0.078~ ! 1000} - x g -
- | - 20000 8 i
nn??_ll|||||||||||||||||||||||||||||||||||| -Illllllll II||||| |I|I||I|I _||||||||||| |||||||||||||||||||||||||| D||||||||L||| ||||||||| ||J||||||||||
' 5000 10000 15000 20000 25000 30000 35000 [P.D?? 0.078 0.079 0.08 0.081 0.082 0.083 0.084 0 5000 10000 15000 20000 25000 30000 35000 -200081500810006-5000 0 5000 100001500020000
pattern_number yield_usl pattern_number asym_usl/ppm

run3324 000 pairTree usl.png



0.085

0.084

0.083

0.082 f:

0.081

0.08

0.079

yield dsl:pattern_number {ErrorFlag==0}

-

I|IIII|IIII.|I_|'__A:-'_'.'_

5000 10000 15000 20000 25000 30000 35000
pattern_number

run3324 000 pairTree dsl.png

7000

6000

5000

4000

3000

2000

1000

yield_dsl {ErrorFlag==0}

I|I IIIJ

htemp

ﬂ Entries 60720

Mean 0.0823

Std Dev  0.0003582

0.079 0.08 0.081 0.082 0.083 0.084 0.085

yield dsl

asym_dsl/ppm:pattern_number {ErrorFlag==0}

20000
N X
[ ®
15[1[][]_3}{}; ” y ”
T - O * *
230 ¢ v % oxx x wxen”
10000
§§ iﬁﬁkﬁxx% xﬁxiﬁxﬁxxgiﬁnﬁkﬁ wxx sk
B e g}{}: X }{§ MR MM | X M
3 | % ETTEE | T
5000 B -
oBkt HHRHEFER cEeRHeE AR
-5000 & L]l INEEE Ay
E }}E}{}{}{g }}i§}{%§ § MK%H MK }{;:}{}{}{}{
. A A KKK - M= MMX
| it e it hd e PO H MR MK 2
10000 %% s *
x| o®x oxx XX X X WK N
[ xd XX X s P
[ %
15000 — e %
% s
EDDDD_Illlllllll I| II|I I| 1 |IIII|III
0 5000 10000 15000 20000 2500 3 000 35000
pattern_number

4000
3500
3000
2500
2000
1500
1000

500

2

asym_dsl/ppm {ErrorFlag==0}

PairTree
Entries 60720
Mean —1.453

Std Dev 2388

I|IIII|IIII|I IJ.IIIIlIIIIlI

|II_I_L|I

006-15006-10000-5000 O

5000 10000 15000 20000
asym_dsl/ppm



yield usr:pattern_number {ErrorFlag==0}

0.084

0.0835

0.083 g

0.0825

L s

0.082

0.0815

| T 1T 1 T 1T 1 T
o - =

5000 10000 15000 20000 25000 30000 35000
run3324 000 pairTree usr.png

pattern_number

4500

4000

3500

3000

2500

2000

1500

1000

500

yield_usr {ErrorFlag==0}

|III||—II

htemp

Entries 60720

0.08303

Mean

Std Dev  0.0001727

0.0815

0.082

1
0.0825

0.083

[ |
0.0835 0.084
yield usr

10000

8000

6000

4000

2000

0

—2000H

-4000

-6000

-8000

asym_usr/ppm:pattern_number {ErrorFlag==0}

— 5

o

B %

- W

24 %

[ o - - o %
B 5 W mx

CwT X xT T - %%
o w | o | T S |
I XM - 5

I Hx | o %

I g:x % %

T 1 L L | s |4 o [ 4L

L5 Lielbdlio )L w7 L% sl
L b 5 % i
- o s . o
T 2 e
b

~ 5 " o

[ %

5 5

L 111 | L 111 | L1 11 | L 111 | L 111 | | 1 | | L 11 | I 11
0 5000 10000 15000 20000 25000 30000 35000

1
3
pattern_number

3000

2500

2000

1500

1000

500

asym_usr/ppm {ErrorFlag==0}

- PairTree
i Entries 60720
i Mean 3.906
i Std Dev 1526
_I | L IJ 1 | L] L1 1 | L1 1 | L 11 | L 11 ] |_| 11 | L 11 | |

-8006600840062000 0 200040006000800010000

asym_usr/ppm



yield dsr:pattern_number {ErrorFlag==0}

0.0825

0.082

7N I I N B B

f. s .

0.0815

-I-'_|.|:-c ol LN
R T L Lol g W T S . ]

0.081F

0.0805

0.08

0.0795

5000 10000 15000 20000 25000 30000 35000
pattern_number

run3324 000 pairTree dsr.png

6000

5000

4000

3000

2000

1000

yield_dsr {ErrorFlag==0}

htemp

Entries 60720

Mean 0.08145

Std Dev  0.0001855

0.0805 0.0

)

0.0815 0.082 0.0825

yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

10000 —

5000

-5000

10000 —

0

n_number

5000

4000

3000

2000

1000

asym_dsr/ppm {ErrorFlag==0}

PairTree

Entries 60720

Mean 3.81

Std Dev 1307

IJ_II|III

-10000 5000

10000

asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

0.005—

-0.005—

-0.01—

-0.01 —0.005 0 0.005 0.01
asym_usl

0.005—

-0.005—

—0.01

—-0.01 —0.005 0 0.005 0.01
asym_usl

as

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

-0.01 —0.005 0 0.005 0.01
asym_usl

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

50C

40(

30(

20(

10C

0

45(

40(

35(

30(

25(

20(

15

10C

50(

0

S0(

80(

70(

60(

0

10(

80(

i —45(
I —{40(
0.005
- —(35(
I —{30(
.D -
i 25(
I 20¢
-0.005— 15(
i 10(
001 50(
i | | | | | I | | | 1 | | | 1 | | | 1 | | ,D
~0.01 ~0.005 0 0.005 0.01
asym_dsl
&1- ]
I 50
0.005
] —{40(
0 30¢
I 20(
-0.005
i 10(
—0.01
| l l l l I l l l | | l l | l | l | l l {]
~0.01 ~0.005 0 0.005 0.01
asym_dsl
Aas
0.004 —90¢
- —{80(
0.002 B 20
- —60(
.D -
- 50(
-0.002{— 400
- 30¢
-0.004 50(
L m 10(
-0.006
| 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 _D
~0.01 ~0.005 0 0.005 0.01
asym_dsl
0.004 —10¢
0.002
- —{80(
.D -
i 80(
-0.002
- 40(
-0.004
-0.006
: [ |
| 1 1 1 1 1 1

—90C
—80C
0.005—
—70C

—60C

50C

40(

-0.005— 30(

20(

LR

o0l o ™ 10

| l l l | l | l | l l | | l l l | l l | | ,D

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

asym_usr

—80C

0.005\— 7o

—E0C

50(C

40(

30(
-0.005—

20(

B .fl.-
10¢

- N
-0.01—

| | | | | | 1 | | | | 1 | | | | | | | 1 | ,D

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

asym_usr

0.004— .
B —40(
0.002 _— _lasg
B —30(
ol
B 25(
-0.002— 20
B 15(
-0.004— 10¢
_ m 50(
-0.006
| | | | | | 1 | | | | 1 | | | | | | | 1 | _D
-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr
asym_ usr
B I
0.004— _lagg
0.002—
= —20(
] =
: 15(
-0.002
- 10(
-0.004
: 50(
-0.006
B [ |
| | | 1 | | | | | | | 1 | _D

run3324 000 asym maindet mutual correlation:COLZ.png = = "

0.005—

-0.005—

-0.01—m

L
—-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

I
0.005—
O
-0.005—
. L
. u o
-0.01
II|III|III|III|II III|II

L
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

as

0.004—

0.002—

-0.002—

-0.004 —

-0.006—

|
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

as

0.004—

0.002—

-0.002—

-0.004 —

-0.006—
|

|
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

10(

80(

10C

80(

25(

20(

15(

10C

50(C

50(C

40(




asym_usl

asym_dsl

asym_usr

asym_dsr

asym_usl

72 | ndf

p0

p1

16.54 7 22

—4.007e-07 £ 3.818e-07 =

0.9969 = 0.0004 =

L L

-0.002

-0.004

-0.006

-0.008

—-0.01

II|III|III|III|III|III|III
1

-0.01 —-0.005 0 0.005

0.01

%2/ ndf 21.3/22 -
p0  —3.783e-07 + 5.260e-07 ;::
p1 0.9389 £ 0.0005 ,_-*'_:
o
aD.D{}Ef—
-0.004 f— ‘_:*':
-0.006 f— = d
~D.D{}Ef— -
—{J.n1:—_|_....|....|....|... |
—0.01  -0.005 0 0.005 0.01

%2/ ndf 82.02 /22 E
i
p0 1.943e-06 £ 3.868e-06 i'
ot
Tty
p1 0.1537 £ 0.0036 y
o+
ol /
n =
N + +++++
L +|~|-I-'|'+
-0.002 — 1‘}
I . h+
-0.004 — -
—D_ﬂﬂﬁ—l_llllllllllllIII|IIII
-0.01 -0.005 0 0.005 0.01

72 [ ndi 84.96 / 22
p0  2.091e-06 = 3.663e—06 1+++
et
't
p1 0.2499 + 0.0035 o
o /
i +++++*
0.002 ] w_ﬁ
I i
o004 T
0.006—
| _l | 1

run3324 000 asym

| 1 |
-0.01  -0g05

malndetm tual

ASym_usr

| ]
¥2 [ ndf 27.35/ 22 _” ¥2 / ndf 92.54 / 24 T
pl  3.233e—09 + 5.568e—07 ::*‘ pl  —8.491e-06 + 6.844e—06 H )
H
p1 1.055 + 0.001 = p1 0.5132 + 0.0117 HH& }
[ LT : [ L : +++'+
0 :_ 0 :_ /
- - s
-0.0021 -0.0021 {f’+
-0.004F - ~0.004F HJr it
-0.006 - -0.006 ]|
= :-" : 'I'
-0.008 o -0.008 i
0.0 _ —0.01F _ i
: | | | | | I | | | 1 | | | 1 | | | 1 | | : | | | | I | | | | | | 1 | | | | | | 1 | | |
—0.01 —0.005 0 0.005 0.01 —0.006 -0.004 -0.002 0 0.002  0.004
l asme.lsr
¥2 [ ndf 18.67 /22 T %2 | ndf 92.67 / 24 B
p0  3.446e—08 + 3.577e-07 s pl —7.731e-06+ 6.514e—06 H
L
p1 0.9968 + 0.0004 s p1 0.4386 + 0.0112 Hh& }
R T st
N B +"*+#
-0.002— -0.002- {;
-0.0041 e -0.0041 HJF i
_0.006 & _0.006 {
- & - 1
-0.008 - -0.008F -
—'D.ﬂ1__ | i | | | | I | | | | | | | | | | | | | | —'D.ﬂ1 __l _I | | I | | | | | | | | | | | | | | | | |
—0.01 —0.005 0 0.005 0.01 —0.006 -0.004 -0.002 0 0.002  0.004
l awsr
12 I ndf 74.27 1 22 o %2/ ndf 14.15/ 24 Ed
P’ ;:
p0 1.649e—06 + 3.907e—06 i pl  2.295¢-07 +1.901e-07 =
J*h*'dﬂ - 1 =
p1 0.1442 + 0.0039 +++++1* p1 0.9977 + 0.0003
it
- -H-_'_'P -
- '|'+++ -
N 1 {}*H = =
0002 . | f -0.002- &
SR _
-t I
0004 - —0.004— -
—D.ﬂﬂ5—|_|| I I T N N N N T A N R B B N —D.ﬂﬂ5—|_|||||||||||||||||||||
—0.01 —0.005 0 0.005 0.01 —0.006 -0.004 -0.002 0 0.002  0.004

aSym_usr

2 / ndf 76.25 /22 - 72/ ndf 80.68 /24
1 - _++_ -
PO 1.84e-06 + 3.72¢-06 o1 p0  —3.777e-07 + 8.218e—07 A+
#++d++ -1 o
p1 0.2472 + 0.0038 ﬁ* p1 0.996 = 0.001 i
or / o
I o i
B # ; X
-0.002— +h++“+ ~0.002|- =
- + = o
i oy i ¥
- +_ {- | +["+
-0.004  _ T - -0.004 A
-0.006- -0.006—
= | ) | | | | = | | | | I | | | | | | 1 | | | | | | 1 | | |
-0.01 0.005 @005 -0.006 -0.004 -0.002 0 0.002  0.004

correlation

-fit.pn

g

2 | ndf 111.8/ 21 Jr*_
p0  -8.796-06 + 6.296—06 M !
ﬁ+++ 1
p1 0.7431+ 0.0105 y
[ LT ++++
o /
_0.002 R
- "
-0.004 " ;4*
N J[ 1
-0.006[
~0.008F _+ﬁ
—0.01F i
i_- | | | | 1 | | | | | I | | | | 1 | | | | | 1 | | | |
—0.006 —0.004 —0.002 0  0.002 0.004
+2 | ndf 112.2/ 21 | b
p0 —8.012e-06 = 6.017e—06 M J
.I.
b1
o1 0.6588 = 0.0100 {*
ororo=T ++++
D:_ /
-0.002 N
- i
-0.004[- h H
- ﬂJr
~0.006—
N +{+
-0.008[- -
—'D..ﬂ11__l T | | | | | | | | I | | | | | | | | | | | | | | |
—0.006 —0.004 —0.002 0  0.002 0.004
¥2 | ndf 85.29 / 21 s
A
pO0 6.33e-07 + 8.07e-07 -
p1 0.9666 + 0.0013
.D_
~0.002 -
N +++"
I e
B k)
-0.004— -
—{].ﬂﬂ51—|?||||||||||||||||||||||||
—0.006 —0.004 —0.002 0  0.002 0.004
+2 | ndf 16.37 / 21
p0  —6.913e-09 £ 2.240e—07 =
o1 0.9971+ 0.0004 i
.D_
_0.002 =
~0.004}—
0.006—
= 1 T | | 1 | | | | | I | | | | 1 | | | | | 1 | | | |
—0.006 —0.004 —0.002 0  0.002 0.004




asym_usl

asym_dsl

asym_usr

asym_dsr

0.005—

-0.005—

-0.01—

asym_usl

—-0.01 —0.005 0 0.005 0.01

0.005— =4

-0.005—

T,

—0.01

asym_usl

as

] ]
—-0.01 —0.005 0 0.005 0.01

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

asym_usl

1 1
-0.01 —-0.005 0 0.005 0.01

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

0.005

-0.005

0.005

-0.005

as

0.004

0.002

-0.002

-0.004

0.004

0.002

-0.002

-0.004

-0.006

run3324 000 asym maindet mutual

B 4
i | l l l l I l l l | | l l | l | l | l l
—0.01 —0.005 0 0.005 0.01
asym_dsl
]
n e
|— ..-.--..- :
B | ] ] ] ] I ] ] ] | | ] ] | ] | ] | ] ]
—0.01 —0.005 0 0.005 0.01
asym_dsl
]
B | 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1
—-0.01 —0.005 0 0.005 0.01
asym_dsl
i | 1 1 1
—-0.01 0.005 il D{}E {'_1 01

correlat

lOﬂ

scat.png

0.005—

-0.005—

-0.01—

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

0.005—

-0.005—

-0.01

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

0.004 —

0.002—

-0.002—

-0.004 —

-0.006—
| | | | | | 11 | | L1 | 11 | | | | 1 |

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

0.004 —

0.002—

-0.002—

-0.004 —

-0.006—

-0.006 -0.004 -0.002 0 0.002 0.004
asym_usr

0.005

-0.005

-0.01

0.005

-0.005

—-0.01

l | |
—-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

as

0.004

0.002

-0.002
-0.004

-0.006

L
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr

as

0.004

0.002

-0.002
-0.004

-0.006

_I 1 | L 1 1 | 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 | 1 1
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr
B ]
= ’f.'-

|
-0.006 -0.004 -0.002 0 0.002 0.004
asym_dsr




